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[ CHmGEHE / NARRIE]

F27  WERHANE B - avty M ERE T 1. 0=k
Z4 L Fei 1) AR - ~Tik ¥o& HAL Bl & =
[IRKES E25 @& 20.0, m
LRk E31 @ 17.00 m
[Tk F24 1.0 m
hose F30 .00 m
EM-EEF/=7" 2.0-3C N 20.00 m
EM-EEF/=7" v 2.0-3C PFEWN 1.0| m
EM=CEf=7" I 5.5sq-3C N 1770 m
EM=CE}/=7" I 5.5sq-3C PFEMN 1.0| m
EM-TE=E A% 5.5sq 17.0 m
EM-TE =A% 5.5sq PF&MN 1.0| m
&) ) o) EEAA 1EV-1 1.0 m
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F35 PARBTME SR L 1. 03k
Z4 L Fei 1) AR - ~Tik & HZ il & =
[IRKES E19 #&iH 38.0 m
[IRKES E25 @& 20.0, m
LRk E31 @ 20.0 m
[IRKES F17 2.0 m
[IRKES F24 1.0 m
[IRKES F30 1.0 m
EM-EBT/—=7" I 0.65-2C &M 19.0 m
EM-EBT/-7" v 0.65-2C J—7" W7y) 14.0 m
EM-EBT/-7" Iv 0.65-2C PFAFM 40 m
EM-HPY—=7" I 1.2-3C &WN 20.0 m
EM-HPY—7" I 1.2-3C =7 7y) 1720 m
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F35 PARBTME R L 1. 03k
Z4 L Fei 1) AR - ~Tik &7 HZ (i & =
EM-HPY—=7" I 1. 2-3C PF&HN 5.0 m
EM-CPEE}=7" v 0.9-15P & 20.0 m
EM-CPEES—7" 0.9-15P PFA& M 1.0 m
EM-CPEE}=7" v 1. 2-20P EN 20.0 m
EM-CPEE}—7" 1. 2-20P PFEWN 1.0 m
VAN NN 150X 150X 150 SR L 1.0 1A
77k DX B el AL B 75 ¢ 3.0 fHp7
77k DX B e AL P F=7" 797 F1300 X 200 2.0 fEfT
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FHAas  PARITME KSR Af T 1. 0xk;
Z4 L Fei 1) AR - ~Tik & HZ il & =
Fid s E25 2 4.0 m
B F24 1.0 m
NH-HP/—7" 1.2-2C W 4.0 m
NH-HP/—7" 1. 2-2C =7 V7y) 9.0 m
NH-HP/—7" 1. 2-2C PFEWN 1.0 m
M £238mm
BtiE >0 29— NE200mmFE 1.0 T
Bk DX e AL B 40 ¢ 1.0 T
Bk DX e AL P r=7" 797 F1300 X 200 2.0 fEfT
ik AR O A5 M ke B 1.0 i
EALT) e 7R 1.0 i
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%55 PNERBIMEE WELE 1. 02
Z4 L Fei 1) AR - ~Tik &7 HZ (i & =

BEAFIUA" I B RS &b .o K

= B E51 3.0 m

L ovr-7 60sq EWN 3.0 m

it BTIEV/-7" W 0.65-2C 7=7"V7y) 14.0 m

fitz=  BTIEV/-7 W 0.65-2C PPN 3.0 m

= IVEMR 8sq &M 3.0 m

HE 7R v 200X 200 X 200  SRAR 1.0| f&

f

7k DX B e AL B 75 ¢ 4.0 fEAT
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B3 A X T v AL B §=7" 797 FA300 X 200 2.0 fEpT

ERHIA < 13.0 ke

ERIEIA Ba<T 16.0 kg

[ CEHERGHE / NaRIAME]
%55 PNERBIME WELE 1. 02
Z4 L Fei 1) AR - ~Tik & HZ il & =

ERERA 2v)) Mg 2.0 ke

T g 13.0 ke

JEECHE RE<T 16.0 ke

TR av))-MA 2.0 kg

By T 13.0 ke

sy RE<T 16.0 ke

sy av))-MA 2.0 kg
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